DC Pulse Carry Current Curve
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Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.
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Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.
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104E Series DC Pulse Carry Current
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Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.
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Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.




20W/50W Series

20W/50W Series DC Pulse Carry Current
Ta=30°C
100
N
<
N
o Ton=30mSmax
£ 9.4[A]lmax
o+
O
3
2
o 10 I
b A
(O] Ton=10mSmax
2 16[Almax Continuous
g current carrying
5.2[Almax
1
0.1 1 10 100 1000
Carry Current Duty {Ton/(Ton+Toff)*1003}%
Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.
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Ton+Toff=100mS max(10Hz) Higher speed frequency shows the same curve at f=100Hz.




